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ΓΑΤΕ 2016  Γενεραλ Απτιτυδε � ΓΑ Σετ−8 

Q. 1 – Q. 5 carry one mark each. 

Θ.1 Τηε χηαιρmαν ρεθυεστεδ τηε αγγριεϖεδ σηαρεηολδερσ το _________________ ηιm. 

 

(Α)   βαρε ωιτη (Β)   βορε ωιτη (Χ)   βεαρ ωιτη (D)   βαρε 

 

 

Θ.2 Ιδεντιφψ τηε χορρεχτ σπελλινγ ουτ οφ τηε γιϖεν οπτιονσ: 

(Α) Μαναγαβλε (Β) Μαναγεαβλε (Χ)  Μανγαεβλε (D)  Μαναγιβλε 

 

 

Θ.3 Πιχκ τηε οδδ ονε ουτ ιν τηε φολλοωινγ: 

 

13, 23, 33, 43, 53 

(Α)   23 (Β)   33 (Χ)   43 (D)   53 

 

 

Θ.4 Ρ2D2 ισ α ροβοτ. Ρ2D2 χαν ρεπαιρ αεροπλανεσ. Νο οτηερ ροβοτ χαν ρεπαιρ αεροπλανεσ. 

 

Wηιχη οφ τηε φολλοωινγ χαν βε λογιχαλλψ ινφερρεδ φροm τηε αβοϖε στατεmεντσ? 

(Α)   Ρ2D2 ισ α ροβοτ ωηιχη χαν ονλψ ρεπαιρ αεροπλανεσ. 

 

(Β)   Ρ2D2 ισ τηε ονλψ ροβοτ ωηιχη χαν ρεπαιρ αεροπλανεσ. 

 

(Χ)   Ρ2D2 ισ α ροβοτ ωηιχη χαν ρεπαιρ ονλψ αεροπλανεσ. 

 

(D)   Ονλψ Ρ2D2 ισ α ροβοτ. 

 

 

 

Θ.5 Ιφ   |9ψ−6| =3, τηεν ψ2 −4ψ/3  ισ               . 

(Α) 0 (Β) +1/3 (Χ)  −1/3 (D)  υνδεφινεδ 
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Q. 6 – Q. 10 carry two marks each.  

Θ.6 Τηε φολλοωινγ γραπη ρεπρεσεντσ τηε ινσταλλεδ χαπαχιτψ φορ χεmεντ προδυχτιον (ιν τοννεσ) ανδ τηε 

αχτυαλ προδυχτιον (ιν τοννεσ) οφ νινε χεmεντ πλαντσ οφ α χεmεντ χοmπανψ. Χαπαχιτψ υτιλιζατιον οφ α 

πλαντ ισ δεφινεδ ασ ρατιο οφ αχτυαλ προδυχτιον οφ χεmεντ το ινσταλλεδ χαπαχιτψ. Α πλαντ ωιτη ινσταλλεδ 

χαπαχιτψ οφ ατ λεαστ 200 τοννεσ ισ χαλλεδ α λαργε πλαντ ανδ α πλαντ ωιτη λεσσερ χαπαχιτψ ισ χαλλεδ α 

σmαλλ πλαντ. Τηε διφφερενχε βετωεεν τοταλ προδυχτιον οφ λαργε πλαντσ ανδ σmαλλ πλαντσ, ιν τοννεσ ισ 

____. 

 

 

 

 

Θ.7 Α πολλ οφ στυδεντσ αππεαρινγ φορ mαστερσ ιν ενγινεερινγ ινδιχατεδ τηατ 60 % οφ τηε στυδεντσ βελιεϖεδ 

τηατ mεχηανιχαλ ενγινεερινγ ισ α προφεσσιον υνσυιταβλε φορ ωοmεν. Α ρεσεαρχη στυδψ ον ωοmεν ωιτη 

mαστερσ ορ ηιγηερ δεγρεεσ ιν mεχηανιχαλ ενγινεερινγ φουνδ τηατ 99 % οφ συχη ωοmεν ωερε 

συχχεσσφυλ ιν τηειρ προφεσσιονσ. 

 

Wηιχη οφ τηε φολλοωινγ χαν βε λογιχαλλψ ινφερρεδ φροm τηε αβοϖε παραγραπη? 

(Α)   Μανψ στυδεντσ ηαϖε mισχονχεπτιονσ ρεγαρδινγ ϖαριουσ ενγινεερινγ δισχιπλινεσ. 

 

(Β)  Μεν ωιτη αδϖανχεδ δεγρεεσ ιν mεχηανιχαλ ενγινεερινγ βελιεϖε ωοmεν αρε ωελλ συιτεδ το βε 

mεχηανιχαλ ενγινεερσ. 

 

(Χ)  Μεχηανιχαλ ενγινεερινγ ισ α προφεσσιον ωελλ συιτεδ φορ ωοmεν ωιτη mαστερσ ορ ηιγηερ δεγρεεσ 

ιν mεχηανιχαλ ενγινεερινγ. 

 

(D)   Τηε νυmβερ οφ ωοmεν πυρσυινγ ηιγηερ δεγρεεσ ιν mεχηανιχαλ ενγινεερινγ ισ σmαλλ. 
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Θ.8 Σουρψα χοmmιττεε ηαδ προποσεδ τηε εσταβλισηmεντ οφ Σουρψα Ινστιτυτεσ οφ Τεχηνολογψ (ΣΙΤσ) ιν λινε 

ωιτη Ινδιαν Ινστιτυτεσ οφ Τεχηνολογψ (ΙΙΤσ) το χατερ το τηε τεχηνολογιχαλ ανδ ινδυστριαλ νεεδσ οφ α 

δεϖελοπινγ χουντρψ. 

 

Wηιχη οφ τηε φολλοωινγ χαν βε λογιχαλλψ ινφερρεδ φροm τηε αβοϖε σεντενχε? 

 

Βασεδ ον τηε προποσαλ, 

(ι) Ιν τηε ινιτιαλ ψεαρσ, ΣΙΤ στυδεντσ ωιλλ γετ δεγρεεσ φροm ΙΙΤ. 

(ιι) ΣΙΤσ ωιλλ ηαϖε α διστινχτ νατιοναλ οβϕεχτιϖε. 

(ιιι) ΣΙΤ λικε ινστιτυτιονσ χαν ονλψ βε εσταβλισηεδ ιν χονσυλτατιον ωιτη ΙΙΤ. 

(ιϖ) ΣΙΤσ ωιλλ σερϖε τεχηνολογιχαλ νεεδσ οφ α δεϖελοπινγ χουντρψ. 

 

(Α)   (ιιι) ανδ (ιϖ) ονλψ. (Β)   (ι) ανδ (ιϖ) ονλψ. 

 

(Χ)   (ιι) ανδ (ιϖ) ονλψ. (D)   (ιι) ανδ (ιιι) ονλψ. 

 

 

Θ.9 Σηαθυιλλε Ο� Νεαλ ισ α 60% χαρεερ φρεε τηροω σηοοτερ, mεανινγ τηατ ηε συχχεσσφυλλψ mακεσ 60 φρεε 

τηροωσ ουτ οφ 100 αττεmπτσ ον αϖεραγε. Wηατ ισ τηε προβαβιλιτψ τηατ ηε ωιλλ συχχεσσφυλλψ 

mακε εξαχτλψ 6 φρεε τηροωσ ιν 10 αττεmπτσ? 

 

(Α)   0.2508 (Β)   0.2816 (Χ)   0.2934 (D)   0.6000 

 

 

Θ.10 Τηε νυmεραλ ιν τηε υνιτσ ποσιτιον οφ  211870 + 146127 ⋅ 3424
 ισ _____. 

 

 

END OF THE QUESTION PAPER 
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Q. 1 – Q. 25 carry one mark each. 

Q.1 The output expression for the Karnaugh map shown below is 

 

 
 

(A) ܣ + ܣ ത (B)ܤ + ҧܣ	ҧ (C)ܥ + ҧܣ ҧ   (D)ܥ +    ܥ

 

 

Q.2 The circuit shown below is an example of a 

 

(A) low pass filter. (B) band pass filter. 

(C) high pass filter. (D) notch filter. 

 

 

Q.3 The following figure shows the connection of an ideal transformer with primary to secondary turns 

ratio of 1:100. The applied primary voltage is 100 V (rms), 50 Hz, AC. The rms value of the current 

I, in ampere, is __________. 

 

 

 

 

 
 

 

Q.4 Consider a causal LTI system characterized by differential equation 
ௗ௬(௧)ௗ௧ +

ଵ଺ (ݐ)ݕ = (ݐ)ݔ3	 . The 

response of the system to the input (ݐ)ݔ = 3݁ି	೟య	(ݐ)ݑ , where u(t) denotes the unit step 

function, is 

(A) 	9݁ି	೟య	(ݐ)ݑ . (B) 9݁ି	೟ల	(ݐ)ݑ. 

(C) 	9݁ି	೟య	(ݐ)ݑ െ 6݁ି	೟ల	(ݐ)ݑ . (D) 54݁ି	೟ల	(ݐ)ݑ െ 54݁ି	೟య	(ݐ)ݑ. 
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Q.5 Suppose the maximum frequency in a band-limited signal (ݐ)ݔ is 5 kHz. Then, the maximum 

frequency in (ݐ)ݔ cos(2000Ɏݐ), in kHz, is  ________. 

 

 

 

Q.6 Consider the function ݂(ݖ) = ݖ	 + 	  denotes its complex כݖ is a complex variable and ݖ where כݖ

conjugate. Which one of the following is TRUE? 

(A) ݂(ݖ)  is both continuous and analytic 

(B) ݂(ݖ)  is continuous but not analytic 

(C) ݂(ݖ)  is not continuous but is analytic 

(D) ݂(ݖ)  is neither continuous nor analytic 

 

 

Q.7 A 3 × 3 matrix ܲ is such that, ܲଷ = ܲ. Then the eigenvalues of ܲ are 

(A) 1,1,െ1 

(B) 1,0.5 + ݆0.866,0.5 െ ݆0.866 

(C) 1,െ0.5 + ݆0.866,െ0.5 െ ݆0.866 

(D) 0,1,െ1 

  

 

Q.8 The solution of the differential equation, for ݐ > (ݐ)ᇱᇱݕ ,0 + (ݐ)ᇱݕ2 + (ݐ)ݕ = 0 with initial 

conditions (0)ݕ = 0 and ݕᇱ(0) = 1, is (u(t) denotes the unit step function), 

(A) ି݁ݐ௧(ݐ)ݑ  (B) (݁ି௧ െ  (ݐ)ݑ(௧ି݁ݐ

(C) (െ݁ି௧ + (ݐ)ݑ(௧ି݁ݐ  (D) ݁ି௧  (ݐ)ݑ	

 

 

Q.9 The value of the line integral  න ݔଶ݀ݕݔ2) + ݕ݀	ݕଶݔ2 + ஼(ݖ݀  

along a path joining the origin (0, 0, 0) and the point (1, 1, 1) is  

(A) 0 (B) 2 (C)  4 (D)  6 

 

 

Q.10 Let f(x) be a real, periodic function satisfying ݂(െݔ) = െ݂(ݔ). The general form of its Fourier 

series representation would be  

(A) ݂(ݔ) = ܽ଴ + σ ܽ௞cos	(݇ݔ)ஶ௞ୀଵ  

 

(B) ݂(ݔ) = σ ܾ௞sin	(݇ݔ)ஶ௞ୀଵ  

 

(C) ݂(ݔ) = ܽ଴ + σ ܽଶ௞ cos(݇ݔ)ஶ௞ୀଵ  

 

(D) ݂(ݔ) = σ ܽଶ௞ାଵsin	(2݇ + ஶ௞ୀ଴ݔ(1  
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Q.11 A resistance and a coil are connected in series and supplied from a single phase, 100 V, 50 Hz ac 

source as shown in the figure below. The rms values of plausible voltages across the resistance (VR) 

and coil (VC) respectively, in volts, are  

 

 

(A) 65, 35  (B) 50, 50 

(C) 60, 90 (D) 60, 80 

 

 

Q.12 The voltage (V) and current (A) across a load are as follows.  (ݐ)ݒ = 100	sin(߱ݐ) , 

(ݐ)݅  = 10 sin(߱ݐ െ 60°) + 2 sin(3߱ݐ) + 5 sin(5߱ݐ). 
The average power consumed by the load, in W, is___________. 

 

 

Q.13 A power system with two generators is shown in the figure below. The system (generators, buses 

and transmission lines) is protected by six overcurrent relays R1 to R6. Assuming a mix of 

directional and nondirectional relays at appropriate locations, the remote backup relays for R4 are 

 

(A) R1, R2 (B) R2, R6  (C) R2, R5   (D)  R1, R6 
 

 

Q.14 A power system has 100 buses including 10 generator buses. For the load flow analysis using 

Newton-Raphson method in polar coordinates, the size of the Jacobian is  

(A) 189 x 189 (B) 100 x 100 (C)  90 x 90  (D)  180 x 180 

 

 

Q.15 The inductance and capacitance of a 400 kV, three-phase, 50 Hz lossless transmission line are 1.6 

mH/km/phase and 10 nF/km/phase respectively. The sending end voltage is maintained at 400 kV. 

To maintain a voltage of 400 kV at the receiving end, when the line is delivering 300 MW load, the 

shunt compensation required is 

(A) capacitive  

(B) inductive  

(C) resistive  

(D) zero 
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Q.16 A parallel plate capacitor filled with two dielectrics is shown in the figure below. If the electric 

field in the region A is 4 kV/cm, the electric field in the region B, in kV/cm, is 

 

(A) 1  (B) 2  (C)  4 (D)  16 

 

 

Q.17 A 50 MVA, 10 kV, 50 Hz, star-connected, unloaded three-phase alternator has a synchronous 

reactance of 1 p.u. and a sub-transient reactance of 0.2 p.u. If a 3-phase short circuit occurs close to 

the generator terminals, the ratio of initial and final values of the sinusoidal component of the short 

circuit current is ________. 

 

 

Q.18 Consider a linear time-invariant system with transfer function  

(ݏ)ܪ  = 	 1

ݏ) + 1)
 

 

If the input is cos(ݐ) and the steady state output is ܣ cos(ݐ +  ._________ is ܣ then the value of ,(ߙ

 

 

 

 

Q.19 A three-phase diode bridge rectifier is feeding a constant DC current of 100 A to a highly inductive 

load. If three-phase, 415 V, 50 Hz AC source is supplying to this bridge rectifier then the rms value 

of the current in each diode, in ampere, is _____________. 

 

 

Q.20 A buck-boost DC-DC converter, shown in the figure below, is used to convert 24 V battery voltage 

to 36 V DC voltage to feed a load of 72 W. It is operated at 20 kHz with an inductor of 2 mH and 

output capacitor of 1000 µF. All devices are considered to be ideal. The peak voltage across the 

solid-state switch (S), in volt, is ____________. 
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Q.21 For the network shown in the figure below, the frequency (in rad/s) at which the maximum phase 

lag occurs is, ___________. 

                                 

1

9

F1

inv
ov

 

 

 

 

 

Q.22 The direction of rotation of a single-phase capacitor run induction motor is reversed by 

(A) interchanging the terminals of the AC supply. 

(B) interchanging the terminals of the capacitor. 

(C) interchanging the terminals of the auxiliary winding. 

(D) interchanging the terminals of both the windings. 

 

 

Q.23 In the circuit shown below, the voltage and current sources are ideal. The voltage (Vout) across the 

current source, in volts, is  

 

(A) 0 (B) 5 (C)  10 (D)  20 

 

 

Q.24 The graph associated with an electrical network has 7 branches and 5 nodes. The number of 

independent KCL equations and the number of independent KVL equations, respectively, are  

(A)   2 and 5 (B)  5 and 2 (C)  3 and 4 (D)  4 and 3 

 

 

 

Q.25 Two electrodes, whose cross-sectional view is shown in the figure below, are at the same potential. 

The maximum electric field will be at the point 

 

(A) A (B) B (C)  C (D)  D 
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Q. 26 – Q. 55 carry two marks each. 

 

Q.26 The Boolean expression ൫ܽ + തܾ + ܿ + 	 ҧ݀൯ + (ܾ + ܿҧ)തതതതതതതതതതതതതതതതതതതതതതതതതതതതതതതതതത simplifies to 

(A) 1 (B) ܽ.ܾതതതതത (C)  ܽ.ܾ (D) 0  

 

 

 

Q.27 For the circuit shown below, taking the opamp as ideal, the output voltage Vout in terms of the input 

voltages V1 , V2 and V3 is 

 

 

(A)1.8V1 + 7.2V2 -V3   (B) 2V1 + 8V2 - 9V3 (C) 7.2V1 + 1.8V2 -V3   (D) 8V1 + 2V2 - 9V3   

 

 
Q.28 Let ݔଵ(ݐ)	 ଵܺ(߱)  and ݔଶ(ݐ)	ܺଶ(߱)  be two signals whose Fourier Transforms are as shown in 

the figure below. In the figure, ݄(ݐ) = ݁ିଶ|௧| denotes the impulse response. 

 

 
For the system shown above, the minimum sampling rate required to sample y(t), so that y(t) can be 

uniquely reconstructed from its samples, is 

(A) 2B1 (B) 2(B1+B2) (C)  4(B1+B2) (D)  ∞ 

 

 

Q.29 The value of the integral 	2 ׬ ቀ௦௜௡ଶగ௧గ௧ ቁ ஶିஶݐ݀   is equal to 

(A) 0 (B) 0.5		  (C) 1 (D) 2   
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Q.30 
Let (ݔ)ݕ  be the solution of the differential equation 

ௗమ௬ௗ௫మ െ 4
ௗ௬ௗ௫ + ݕ4	 = 0 with initial 

conditions (0)ݕ = 0 and  
ௗ௬ௗ௫ቚ௫ୀ଴ = 	1. Then the value of (1)ݕ is _________. 

 

 

 

Q.31 The line integral of the vector field ܨ = ଓƸ	ݖݔ5 + 	 ଶݔ3) + (ݕ2 	ଔƸ + 	ݖଶݔ ෠݇ 	 along a path from (0,0,0) 
to (1,1,1) parametrized by (ݐ,ݐଶ,ݐ) is _____. 

 
 

Q.32 Let ܲ = 	 ቂ3 1
1 3

ቃ . Consider the set ܵ of all vectors ቀݕݔቁ such that ܽଶ + 	ܾଶ = 1 where  ቀܾܽቁ = ܲ ቀݕݔቁ. 

Then ܵ is  

(A) a circle of radius ξ10 

(B) a circle of radius 
ଵξଵ଴  

(C) an ellipse with major axis along ቀ1
1

ቁ 

(D) an ellipse with minor axis along ቀ1
1

ቁ  

 

 

Q.33 Let the probability density function of a random variable, ܺ,  be given as: ௑݂(ݔ) =
3

2
݁ିଷ௫(ݔ)ݑ + ܽ݁ସ௫ݑ(െݔ)  

where (ݔ)ݑ is the unit step function. 

Then the value of 'a' and ܾܲ݋ݎ{ܺ ൑ 0}, respectively, are 

(A) 2,
ଵଶ 

 

(B)	4,
ଵଶ  (C)  2,

ଵସ (D)  4,
ଵସ 

 

 

 

Q.34 The driving point input impedance seen from the source Vs of the circuit shown below, in Ω, is 
______. 
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Q.35  The z-parameters of the two port network shown in the figure are ,4011 z ,6012 z

 8021z
 
and .10022 z . The average power delivered to  20LR , in watts, is _______. 

 

10

 ZV20
L

R

 

 
1V

2V

1I 2I

 

 

 

Q.36 In the balanced 3-phase, 50 Hz, circuit shown below, the value of inductance (L) is 10 mH. The 

value of the capacitance (C) for which all the line currents are zero, in millifarads, is ___________. 

 

 

 
 

Q.37 In the circuit shown below, the initial capacitor voltage is 4 V. Switch S1 is closed at ݐ = 0. The 

charge (in µC) lost by the capacitor from ݐ = 25	Ɋݏ to ݐ = 100	Ɋݏ is ____________. 

 
 

 

 

 

LL

L

C

CC

4V

5F
5

S1
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Q.38 The single line diagram of a balanced power system is shown in the figure. The voltage magnitude 

at the generator internal bus is constant and 1.0 p.u. The p.u. reactances of different components in 

the system are also shown in the figure. The infinite bus voltage magnitude is 1.0 p.u. A three phase 

fault occurs at the middle of line 2.  

 

The ratio of the maximum real power that can be transferred during the pre-fault condition to the 

maximum real power that can be transferred under the faulted condition is _________. 

 

 
 

 

 

 

 

Q.39 The open loop transfer function of a unity feedback control system is given by 

(ݏ)ܩ  =
ݏ)ܭ + 1)ݏ(1 + 1)(ݏܶ + (ݏ2

, ܭ > 0,ܶ > 0	. 
 

The closed loop system will be stable if, 

(A) 0 < ܶ <
ସ(௄ାଵ)௄ିଵ  (B)	0 < ܭ <

ସ(்ାଶ)்ିଶ  

 

(C) 0 < ܭ <
்ାଶ்ିଶ (D) 0 < ܶ <

଼(௄ାଵ)௄ିଵ  

 

 
 

Q.40 At no load condition, a 3-phase, 50 Hz, lossless power transmission line has sending-end and 

receiving-end voltages of 400 kV and 420 kV respectively. Assuming the velocity of traveling 

wave to be the velocity of light, the length of the line, in km, is ____________. 

 

 

Q.41 The power consumption of an industry is 500 kVA, at 0.8 p.f. lagging. A synchronous motor is 

added to raise the power factor of the industry to unity. If the power intake of the motor is 100 kW, 

the p.f. of the motor is _____________ 

 

 

Q.42 The flux linkage (そ) and current (i) relation for an electromagnetic system is ߣ = (ξ݅)/ ݃. When i = 

2A and ݃ (air-gap length) = 10 cm, the magnitude of mechanical force on the moving part, in N, is 

________.  
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Q.43 The starting line current of a 415 V, 3-phase, delta connected induction motor is 120 A, when the 

rated voltage is applied to its stator winding. The starting line current at a reduced voltage of 110 V, 

in ampere, is _________. 

 

 

Q.44 A single-phase, 2 kVA, 100/200 V transformer is reconnected as an auto-transformer such that its 

kVA rating is maximum. The new rating, in kVA, is ______. 

 

 

 

Q.45 A full-bridge converter supplying an RLE load is shown in figure. The firing angle of the bridge 

converter is 120º.  The supply voltage ݒ௠(ݐ) = (ݐߨ100)	sin	ߨ200  V, R=20 Ω, E=800 V. The 
inductor L is large enough to make the output current IL a smooth dc current. Switches are lossless. 

The real power fed back to the source, in kW, is __________. 

 
 

 

 

 

 

Q.46 A three-phase Voltage Source Inverter (VSI) as shown in the figure is feeding a delta connected 

resistive load of 30 Ω/phase. If it is fed from a 600 V battery, with 180
o
 conduction of solid-state 

devices, the power consumed by the load, in kW, is __________. 

 

 

Load

vm

T1

T2

T3

T4

Bridge 

R=20

L

E=800V
+

-

IL
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Q.47 A DC-DC boost converter, as shown in the figure below, is used to boost 360V to 400 V, at a 

power of 4 kW. All devices are ideal. Considering continuous inductor current, the rms current in 

the solid state switch (S), in ampere, is _________.  

 

 
 

 

 

Q.48 A single-phase bi-directional voltage source converter (VSC) is shown in the figure below. All 

devices are ideal. It is used to charge a battery at 400 V with power of 5 kW from a source Vs = 220 

V (rms), 50 Hz sinusoidal AC mains at unity p.f. If its AC side interfacing inductor is 5 mH and the 

switches are operated at 20 kHz, then the phase shift (į) between AC mains voltage (Vs) and 

fundamental AC rms VSC voltage (VC1), in degree, is _________. 

 

  

 

 

 

Q.49 Consider a linear time invariant system ݔሶ = ݐ at (0)ݔ with initial condition ,ݔܣ = 0. Suppose ߙ and ߚ are eigenvectors of (2 x 2) matrix A corresponding to distinct eigenvalues ߣଵ and ߣଶ respectively. 

Then the response (ݐ)ݔ  of the system due to initial condition (0)ݔ =  is ߙ

(A) ݁ఒభ௧ߙ (B) ݁ఒమ௧ߚ (C) ݁ఒమ௧ߙ   (D)  ݁ఒభ௧ߙ + ݁ఒమ௧ߚ 
 

 

 

Q.50 A second-order real system has the following properties: 

a) the damping ratio ߞ = 0.5 and undamped natural frequency ߱௡=10 rad/s, 

b) the steady state value of the output, to a unit step input, is 1.02. 

The transfer function of the system is 

(A)
ଵ.଴ଶ௦మାହ௦ାଵ଴଴ (B) 

ଵ଴ଶ௦మାଵ଴௦ାଵ଴଴ 

 

(C) 
ଵ଴଴௦మାଵ଴௦ାଵ଴଴ (D) 

ଵ଴ଶ௦మାହ௦ାଵ଴଴ 
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Q.51 Three single-phase transformers are connected to form a delta-star three-phase transformer of   

110 kV/ 11 kV. The transformer supplies at 11 kV a load of 8 MW at 0.8 p.f. lagging to a nearby 

plant. Neglect the transformer losses. The ratio of phase currents in delta side to star side is 

(A) 1 : 10ξ3 (B) 10ξ3	: 1 (C)  1 : 10 (D)  ξ3	: 10 

 

 

Q.52 The gain at the breakaway point of the root locus of a unity feedback system with open loop 

transfer function 
)4)(1(

)(



ss

Ks
sG  is 

 

(A)  1 (B) 2 (C)  5 (D)  9 

 

 

Q.53 Two identical unloaded generators are connected in parallel as shown in the figure. Both the 

generators are having positive, negative and zero sequence impedances of j0.4 p.u., j0.3 p.u. and 

j0.15 p.u., respectively. If the pre-fault voltage is 1 p.u., for a line-to-ground (L-G) fault at the 

terminals of the generators, the fault current, in p.u., is ___________. 

 

 

 

 
 

 

Q.54 An energy meter, having meter constant of 1200 revolutions/kWh, makes 20 revolutions in 30 

seconds for a constant load. The load, in kW, is _____________. 

 

 
 

Q.55 A rotating conductor of 1 m length is placed in a radially outward (about the z-axis) magnetic flux 

density (B) of  1	Tesla as shown in figure below.  Conductor is parallel to and at 1 m distance from 

the z-axis. The speed of the conductor in r.p.m. required to induce a voltage of 1 V across it, should 

be __________.   

 

 

 

END OF THE QUESTION PAPER 
 


